CT23-19 
A spy satellite is moved to a lower orbit, so that it is closer to the ground.  The diffraction-limited angular resolution (( of the satellite is..

B) improved, (( decreases.

C) worsened, (( increases.

D) unchanged.



Answer: The angular resolution is unchanged.  The angular resolution (in radians) is (( = (/D where ( is the wavelength of the light being used for the image (visible light wavelengths for a spy satellite) and D is the diameter of the objective lens or mirror used in the telescope.  Neither ( nor D is affected by the distance between the telescope and the target.

